P

S AN AR N AT W

202 & (@

ew\c,‘ﬂa/ iwt Ao

5 3% {3



l\z
3, ¢
IR o ) 33 ¥432 CC >0 o, Pacq’e/c)e\R,’q R =t a

\Bg C PDW”{ CX9,2Y -yt e (g -ey 4 Cr-cyg {3

et Fiou

»

U(C- |RX3'$. N a s L

=*

v

T U — IR

. ) ) _
Es RN PDCU T 'S")"ral;\\\(ts é L3 3§>o

(=$:S“|L_

FCPY = F Py CPe Bpeen)

( JPY s 5Py CPeBePH) B



: W & 33
O(CC R 1= MFR 5.0 —

P,eU v o Ty GY

= T=Ped= 3y (Pd =5, (Bor= o



I
3R

L
END)

(
)
j‘
N
ﬂ
IR

L3
P
s €O
1=
= &
W)
:F
olz
o o
e
[y
3

=
C
~
H (¢
P
s
>
A
D
>
O

)
N
—
xS
4
*

P
s €
O
(
a\
G
T
X
53-217:
t
EN
b

(~
C
t
D
C
P
2
Rt
)
NS
(@)

¢



(Y (Q\ - _(;’ &";

L T =0 3 £33 LR Guor T xs £33}
Pe
Flety=s $C P+t v Po//i?
£3Y)., = acém P T Portv 33
B () = (*qc'y) CPf\) v )
(3.« t=90o axi

— -}
sy 2 (e o, v ) =, vo=e

¢

o2 3 Xde A arv 3T e

t x0
F(t) = FUOY (t°°§‘<'t< tet & \
- N N
(&7\4\’\ '&l‘%‘i AN Q&tﬁ\-lh = Sb"zraa g‘*ﬁ:“'\w
~ L T
) & Fity=s Froy+ Elisy ¢ + FQQytL pE: \:‘m)-b'p"u)'bb
- b,
i tTye RET R
FOsy 2 o

t—=>0 at , = \
Ty o g3 F'onz 0o TRt (HUDw v)z0



(¢

EEE UCR\?” ﬁ’“"@%‘% " u——»\RJ P, € U
)
TW-QP“‘) -=‘TT'3 (,PQBE %}% &Pésgs
( Ry (PY R, ) >0 LPeU - )

=
FCPY » FChed (L Pev Pxp,y



(reeh D
PxP.2 By PEQ T &3 £ =P P 73

Pe P°+t? ¢

K ity = j”(P’c\)

I N Y
F'|-&):(V(j) CPed G >
3 ,
3 e - > 2
Feoe (vq’)((’a\u Y= (o, v =0
i ) ]
TS t=

Fren= (HeYEHE 3 ) - o

PUR R Ry thag

Flty > Buoy (tx)

%% 1= -
PO >SFEeYy (e, F P > ¥ (P)



R

_:?

$,0 — R CRRI. Pie U i3

P o> = 3 (> = F, (RO

(FECoOv ) = (T %5)

3T>0
SCPY > 3Ry (PrPe PR, (p)
/



